~~~~~~~ \Jeek 9 HW §>q1qz
L‘{-\j LIX' +777( O y K= %0y =p

C/\) \J_/ =
T -
X(D=cC, cos L + C, 5t

X(oy=¢C,=1
X () = T, Shad 1L Cos, (ot
X/OL

Ceeo, = CoZ=p = C =2

X(O = cos S+ Dsp oot

Méb 1 23%\




H@Mo\

Inip= Plot[2Cos{t] +Sin[t], {t, 0, 3+ Pi}]

@ X6 = @\?> CoS (¢ - 0.4¢)

1. 28] % Fl6x=0 |, XI0)=0 | x(o)=

e {

X(O) = C cos e +C,<in e
X(0)= C, =o

X (€)= C, Y cos Y¢
X(0)=Uc, =4 =>c,=]

()= <, Ye




X+ 9%=0 | X0, X(0)=0
X(O= cosBeyr £ <on(36)
X(€)= -3 SR + Cos(3)

X
{70
m ”11.\ @t.—; 1

Sl

= X
5 7
) (Vg)“"ix & t~ A
I/




X +lbx=0 x(d=0, X( =4

X ()= <in(4e)
X (O =Y coslqe)

Y T

[ oy etz

Z/h/ > etT B
_'kf*, >)<

-4

m’ ny 347 +47-’

_Jm*(ww|_zfmzf

:5 = - 1 2 =

=
2 {2) ¢/ g

<l

/@2’\' r“"—%’,r:7

T/
% \/Z+§:Ge v cl@f7
1




D V *2~/ by =0, gl =0, gl

\/ 2= 4N 3 ~—/

2 (D
=7 P; = rz 2,7

= Lcy‘sis P g e:t) {/thz

- -7 £
A?(#B =Ce tc,te”

A7[o3 =C, =0
YA = Ct (e ke
4'(0)= Cp =]
1233 dzi:/"g/y’?/'“ Sy =0

i
/\7 -2(\7’ _ z 47 = O
C)\W\@dem'sh‘g @Z”j

Fe. 20-3% =0
(r- 33((‘4—!3 =0

R

V% , 2€ -t
'SO[V“M Spc-(e. ‘ g/’7 /736/6 t e | CuCz.e/Eg

_—




ﬂ;l%j /\71110

Sost (Megmxjre ‘o So/u{;

/\7 g C'
IO = (it + ¢
ﬂw So/u+iom Spele ff\oorem Soxyg *&/\& gojo+:‘on

: ‘ d
S\Do{e, % of o 2° Oé“blu; L\omojeneoos ODE

hes  dimension R. Therebe , i o sodotons
ad~e /:;/\Qgr//7 }Ac’éfD&MC]M"L Af\?—«/ ’F‘D(‘M o~ LD@SI'S.
OF | ¢%

Wl ]2 fso = e b

§CEHD), -0
@\,JZ )fﬂ f"/ =  #0=" & s s ko“SfS

! I )
@ {1 2¢,@e-N3

_ =
\W/ = ) :;": ¢ ) =2 FO =& s « bosis
3



@ @éé6>§i/ egf/ 5 e{f—/ §

<S¢t .St $# '
5 demodives: (~See”4e , Se, 105

2™ Lenivorives! (A5te 8 2 /pe 5 2565 soe <)

)

_ _g{:— { gf—
\’\/ B f c e} ¢ 26 1
St <
ST C Se JOe>©
ge
2 St S L J0eSE 25t Nelc
Sé I o 1<t e -S¢ )§{f + S
- - - e
W [é § 50 1 2S€HO ?ol ¥ @ ) AS¢tHO 235
=SS0 = o

:’—’5@ 'S 6 \)(;.HB S;ar ,\)/\L SJJHM SdDACQ/ o«C
/‘7151 _\/04711 +2§/\7’-’:‘O



%

e

¥4
' |

e Pt=0
P = creesiag +



